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1 (= =— 44 | 44 88 [20.4 67.6 51 |RE =& 45 53 98 [22.8 75.2 | 101 |/hh = 48 51 99 120.4 78.6
2 |EK & 39 46 85 [15.6 69. 4 52 | BN #HE 317 42 7191 3.6 75.4 | 102 | EA = 53 52 105 | 26.4 718.6
3 B R 46 46 92 [21.6 70. 4 53 [HIL #HF 45 | 46 91 [15.6 75.4 || 103 [#fE #F1=z 59 51 110 | 31.2 78.8
4 (kB & 47 45 92 [21.6 70. 4 54 |EkR FE1T 44 47 91 [15.6 75.4 || 104 (ABH —F 60 [ 52 112 | 32.4 79.6
5 (HE & 39 44 83 [12.0 71.0 55 (&L RRI 51 40 91 [15.6 75.4 || 105 [p)Il BE 56 62 118 | 38.4 79.6
6 [FEE ZE& 45 43 88 [16.8 11.2 56 | Tk 1B 46 51 97 [21.6 75.4 || 106 [A#F fli= 51 60 | 117 [37.2 79.8
1 |#aH =58 38 36 7141 2.4 71.6 57 |FRE  F$XER 43 47 90 [14.4 75.6 || 107 |[BR E1T 51 53 104 [ 24.0 80.0
8 [ BA 41 45 86 [14.4 71.6 58 |4 A =IE 52 50 102 | 26.4 75.6 || 108 [{FiE &k 46 51 97 116.8 80. 2
9 |Jllim X&BH 50 48 98 | 26.4 71.6 59 [ [£7 39 | 44 83| 7.2 75.8 || 109 B =i 47 50 97 116.8 80.2
10 |7 B— 45 40 85 [13.2 71.8 60 |I5xd8 F=E 44 45 89 [13.2 75.8 || 110 |¥&@)Il 4ETHER 49 54 | 103 | 22.8 80. 2
1M |[Es E— 49 54 103 | 31.2 71.8 61 [ff £ FHIE 45 50 95 [19.2 75.8 || 111 [k@B & 51 52 103 | 22. 8 80.2
12 |BE#E HE— 39 39 7181 6.0 72.0 62 [5EE BRI 42 53 95 [19.2 75.8 || 112 878 25A 46 50 96 | 15.6 80.4
13 [Fm B— 45 39 84 (12.0 72.0 63 [(mE =& 49 46 95 [19.2 75.8 || 113 | LB XE 49 | 46 95 | 14.4 80.6
14 |Hrr B 47 | 43 90 [18.0 72.0 64 |BEX H— 51 56 107 | 31.2 75.8 || 114 |5 =EF 51 50 | 107 | 26.4 80.6
15 [f80 ¥— 47 | 42 89 [16.8 72.2 65 |28 % 40 42 82 | 6.0 76.0 || 115 [XE 38 53 58 111 [ 30.0 81.0
16 |iZFH Ex5 47 48 95 [ 22.8 12.2 66 [2E A8 48 52 100 [ 24.0 76.0 || 116 [dbBr s&%& 59 61 120 | 38.4 81.6
17 [im B 42 | 46 88 [15.6 72. 4 67 |#EH =5 51 55 106 |30.0 76.0 || 117 |7 #FOxX 49 | 46 95 113.2 81.8
18 i+ #EH=E 40| M 81 8.4 712. 6 68 [/NE {E—ER 52 54 | 106 | 30.0 76.0 || 118 [=A®R =EE 54 46 100 [ 18.0 82.0
19 [Nlim & 45 48 93 [ 20.4 72. 6 69 |[KE & 42 45 87 [10.8 76.2 || 119 |BB#E HE_ER 48 52 100 [ 18.0 82.0
20 [lUTF % 42 38 80 | 7.2 72. 8 70 |FhEk = 50 | 43 93 [16.8 76.2 || 120 [lLUA BEi# 55 67/ 122 [40.0 82.0
21 |3 E# 41 45 86 [13.2 72. 8 n|Ex = 57 54 [ 111 | 34.8 76.2 || 121 [#r BER 60 | 51 111 | 28.8 82.2
22 |#3F EH 43 42 85 [12.0 73.0 12 [EH =E 43 49 92 [15.6 76.4 || 122 |[Zz@A HE 51 49 106 | 22.8 83.2
23 |RE MM&E 44 | 41 85 [12.0 73.0 13 |F 3R 48 44 92 [15.6 76.4 || 123 (P HX 62 60 | 122 [38.4 83.6
24 I3&E Fl4T 48 49 97 [24.0 73.0 74 [#)Il A8 45 | 4] 92 [15.6 76.4 || 124 (@&l H= 69 55 124 [ 40.0 84.0
25 |{FiE ANt 42 42 84 [10.8 73.2 15 |H&FHB EE 52 52 104 | 27.6 76.4 || 125 &% RIE 45 55 100 | 15.6 84.4
26 | L¥ IEA 48 | 48 96 | 22.8 13.2 76 | LA B 46 | 45 91 [14.4 76.6 || 126 |EH 18 60 | 54 114 | 28.8 85.2
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30 [BIER  —Ii 43 | 46 89 [15.6 713. 4 80 | K& IEE 46 50 96 [19.2 76.8 || BB [E4E FIER 62 66 128 [40.0 88.0
31 |mHE Bk 48 | 47 95 [ 21.6 73. 4 81 |A~iIx B 52 50 [ 102 | 25.2 76.8 || 131 (B8 & 64 65 129 [40.0 89.0
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34 |#E@ F— 44 | 43 87 [13.2 73.8 84 |de)Il FI=xE 50 50 [ 100 | 22.8 77.2 | NR

35 |HE RX 44 | 43 87 [13.2 73.8 85 |l R&E 55 51 106 | 28.8 11.2

36 |FFH #BF 43 44 87 [13.2 73.8 86 [/NE BF 49 50 99 [21.6 17.4

37 | E— 50 | 49 99 | 25.2 73.8 87 [BEE #E 46 | 46 92 |14. 4 77.6

38 |[ILK FEiE 41 39 80| 6.0 74.0 88 | Xk =HE 51 41 92 [14.4 77.6

39 [BEK AE 43 1 43 86 112.0 74.0 89 |[BERE E# 47 | 51 98 |20.4 77.6
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46 [EHZE B9 42 39 81 6.0 75.0 96 [YEH ZEB 47 48 95 [16.8 78.2
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48 |h/ EE 51 48 99 (24.0 75.0 98 [5H# FEF 45 50 95 [16.8 78.2
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